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QUESTION BOOKLET
This question paper contains 170 questions. / 38 YU § 170 I3 2 |

All questions are compulsory. / @t I3 31f4a & |

One question carries half mark only. / T I4 * %IQW ST 376 3 |

Maximum Marks : 85 HAfrehan 3 : 85
Time : 2 Hours uy : 2 gue

1.  “UCHTcH SohTel’ o1 fra shfa &hi @ 7

(A) TmftE (B) drfig (C) &ma=g (D) wEHuTRE

2. ‘MUY vIsg HAuYH R fergm = wge femam o ¢

(A) Yt=E (B) dadltol (C) Toaafig (D) W&l =™
3. ‘PAGIHIC HAT b TWHBR i & ?

(A) s gl (B) fwfosngd (©) sfliwsr (D) smfeerne
4. ‘GG, 9, oot g Sifoar fha ITami g § 7

(A) T (B) dRvedifedt (€) ferrd (D) oeff Tt
5. S[El A AlfgcfaaTd | shiel fauTe fohd 3R ot fopam 2

(A) T (B) wgfd (C) yg@#y (D) 9
6. TG s qr fet o fopmd vy g% ¢

(A) TATH (B) Tagiw (C) SAHERE (D) Wk Hiei &
7. Wfad hicl o HIeA 1 AT THIS o fohdl o  TohaT ?

(A) SEFET e (B) fserat (C) F=a (D) W&o
8. ‘grgradl 3R ‘IO Sl fohueh W § 7

(A) J@at (B) WM (C) Fggme (D) o™
9. 3TN ekl o U fopa YT H & 7

(A) FEE™  (B) ] (C) Sfear (D) aftret
10. ‘TSI GH T gH T, STeh 337 918 |01 fohwehl dfaa g 2
(A) H (B) <rggaTet (C) e (D) g<cH
i e
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11.  ‘gmed fd g6l SaH =8 7
(A) B (B) weH (C) il (D) WM

12. “framfe< s @ER@ B Y ?
(A) ™ (B) fommdfa (C) THHA=<TH (D) Jed

13. qoEl fod g8 B W s EH g 7
(A) TidTec (B) THAAT T8
(C) THTT JeHTea] (D) THIANAHFH
14. fora swreaem o Sferret fa = Rt € 7

(A) T (B) {ferg (C) fififag (D) T & HE T

15. Torm treiass 3 Afaere’ &1 ‘el 1t haT ?
(A) Tt e dre (B) s fead
(C) THHHAR |t (D) =R g

16. “cAfeld el “TEUST T ‘Bedr futret’ fopgeh! oA & 7
(A) TCHTH (B) <dcd (C) wufem (D) 3

17. ‘ed, 7ed, {era, Rasa, fuea, Reea, afam
WA T Hd g A g A «1a |
Tg e fra a1y ?
(A) Tl (B) fa=mfr () frediem (D) =AW=

18. T&=< O pveforn B *1 Faifs awa = foha fha 2

(A) SA@HE  (B) ©@E (C) &M (D) firfter
19. 3T 3 T~ &1 yom Yig TR fohd 7T 7

(A) TEyETe et (B) TSI THATEA T

(C) WRd=g BiTe (D) T @ HIg &l

20. THA R H I ITIE R ATR 7
(A) T (B) =gehial Edfd (C) Tl e (D) T O His T&l

21, STH | M | 3T ARG A8 & 7
(A) THLES (B) sftcrerdt (C) et (D) 78 9§ IS T
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

“STTET0T’ f3IehT o GFITeh b 9 ?

(A) BT SHTHIEA (B) SaToHRrE T

(C) SetHrrYT Serdt e’ (D) SIS g

Tt ATt 1 1 wRd § fohe 31 SgrR ?

(A) e ot s8ve (B) ST THAES T

(C) M= qe&adl (D) e soATeReh!

Tgardt 371 1 ATeRToT foheeh T T R 7

(A) BHyETE fgadt (B) TmerEH fgadt

(C) et fgardt (D) TrTTyETE fgerdt
“Trvera’ 3t degt aa™’ fohoes e hreg g 7

(A) IreiyE IuTe (B) feiRuI T mum
(C) TATIHIE I[wd (D) g @ T =
‘Ut ‘qrEaedr, ‘PO, JTUN foheehl WA & ?

(A) TATHATIRI 978 (B) HigTaTe fgadt

(C) THeTifE feem (D) GHITHAT <M

“&FmT I} 39 o <R, foreh uTe T g frmeh ufd g ¢

(A) Bfrefrerer T (B) Tmerifig fgmem

(C) HTEETS agae! (D) JATHITIRIT U7
‘SR P foha o g ?

(A) 33 (B) =@ (C) " (D) =7

Td ! 37h! fope T W TS feam i 2

(A) TR (B) Teremw (C) SR (D) T O His T&

SR 1 hell’ o TR i & ?

(A) vETg (B) Ua (C) farem (D) weTee

‘firgt ST o1’ ‘GXdl’, H 39 UG 1 hid g [hEeh TTAL B ?

UNRESIEE] (B) eI 7T

(C) TS (D) Hfeate
S T Tl
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32, Rd H A& | Wifasfiet i@ T6 hl TTHHT el g3 7
(A) 1940 (B) 1936 (C) 1938 (D) 1926
33. wifdTe o 37dTid hid 91 feRR AT 181 @ ?
(A) FUrRlEge (B) UQIYETg (C) ®udrg (D) T € HIS A

34. ‘AR 9k h GHTEh i & ?

(A) 33 (B) AfEgIT  (C) Hlwary (D) 1 T

35. TAWTETE o1 o fohE afvereh TreT § wumfera o ¢
(A) &1 &6 shif (B) fect fova I & TwER
(C) hid ! shif= (D) 378 ¥ 13 T

36. T SRicrT ol TATMYG St STel! IRIEhT T T’ o HEITGH hid o ?
(A) TTETEY Iqagt 3R AeHhd adl  (B)  SHTEe T

(C) =T Ugall (D) waryETe s
37. ‘OYFMHITH U, TR G, Sier g =g I fhah wEd E 7

(A) TIiGTHHR A1 (B) 31

(C) Ef. e (D) T Hg
38. ‘WU Y USH AP, ‘el YA g3’ fepaehl wHC F 7

(A) TIveR AT T (B) Hem1 UTe i

(C) ovfefi Wt (D) =0 $AR
39. cfaREH! T i Hom T WSS 3TRTeh’ o oi@eh i o ?

(A) FRHEEH IHH (B) HIeT 3sgectl

(C) & 8 Tl TGS (D) T 9 g &
40. &< 1 T8 ATedTEeh THTER hi9 91 AT ?

(A) A UEUE  (B) wgEA (C) =ga (D) SR G
41. ‘gurRl FHTER-YS o HHTEh D 9 7

(A) Ty fag (B) Thiforeg T o

(C) TTHIE B (D) ¥Teg
T
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42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

ot g frre e 1 2 fore o 2

(A) STEFT g (B) WRd—g

(C) TN Tt (D) wren Hffvare
TSI RN, HATGH qT Tl R’ el 1 oRgeh B & 7
(A) ITEATIs qUifere (B) WS faadh

(C) o forart Ty (D) T8 | 1 Tl
ST I T 253 HarashR & -

(A) TR TS (B) fornfama fax

(C) Bstrie fgardt (D) wHg<teE B

TN & ITATH T 1@ hiF & ?

(A) shfemem  (B) I (C) grm fheatfi(D) Yw=ig

“ford aTfenea™’ fordeht ST=ME @ 7

(A) HHAIR (B) 3IM@™ (C) FomdEd (D) v awt
‘3TIeRT S qAT “HETHIST o TWRIAT A & ?

(A) FOMEEA  (B) LW  (C) HWAT SR (D) 3 SR

T heeh! shl HEMI & gh hiH & 7
(A) TEETaEy (B) ek fag (C) e @l (D) I9He

THEIE 1 UEAT I T8 HIS Ia4 ok & § ThIfRIG g3l ?
(A) 1907 (B) 1936 (C) 1910 (D) 1905

often Arefl, 9T TETE T, AT fohdl Torermem o aiweh & 2
(A) Tefendt (B) WG (C) FATHAE (D) Wfdee!

fopet fergT <hl HT=IaT & Top Tesh 1 3¢ Shagdai! Tl 8 g1 7
A) B.fmewm @B) sifead  (€) .fimgm (D) 3=E

g ehel o TTeeh ‘3TTIE o1 Teh fed’ I A—H Hi 8 7

(A) faeim (B) sifelg@@  (C) = (D) T & H1E T
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53. ‘e, ‘G 6l 3TE’, (@rH 8 Tehieh! fohEeh B 7

(A) geI (B) TwHHR sl

(C) wreHreT fiy (D) STTEHT H12R
54. Y91 oh o9 ®9 — “GAferdeh’, ATHTNT, ATHT TohE WINT A3TTiHe o iR U & ?

(A) HRE (B) sE®les  (C) T MER (D) T & HIE e
55. 3THM WTS] el HHeh 99 AT 8 7

(A) 3G B (B) SHTeRUT THIA Bl

(C) HTHIfTe Wiehld ITeht (D) 0 O His A&
56. T fosH 4 ‘&9 o™’ & 31=qia fordeht ASRH BT ?

(A) = @R (B) W= (C) a1 (D) 3T | 13 Tl
57. ‘Tl % W12 THE Il AT HEA & 7

(A) X (B) 3 (C) dr (D) &9
58. IR GEU 6t vaferai, et anfe fera v 4 & 2

(A) ESER  (B) S (C) sreh (D) 3¢
59. Toyugr 3 form faen @ wnfeca w61 7

(A) e (B) gt (C) ha (D) 78 A IS T
60. ‘frha g faferet doted’ ferashl TR 7

(A) ™ (B) et (C) ggdad (D) &4 HETE
61. SR TS T § fohdl Haifersh Tewyul AMHd 8 7

(A) HTohfcrehl (B) =I-faQiemamg

(C) & (D) =
62. 3TR] o TTHR ATHE! § hidl fheehT ST HLAT 7 ?

(A) TUH e 1 (B) HRITd A T

(C) IS Tepic =l (D) ¥ ¥ g &l
63. BRE I THT ! FE TR H ATE-TTfceht A forg fargm = feam 7

A) fedifmm (B) afSie (C) B (D) wSTETE
e
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9 : v 64 [ 70 T IS reg 7 Ta=al 1 wieTivves wreg T
64. Attorney General .
(A) H&A RN (B) & e (C) #edgdd (D) HERI™are

65. Draft for Approval
(A) 9RETRH JT&Eq0 (B) forra fowor S
(C) AIHIE yEw (D) O ARG =k

66. Endorsement

ISR CES (B) tiarefts (C) & (D) e

67. Main handiqaps ’ , :
(A) T 3@ (B) @ EEN (C) Y@ W (D) FUH
68. Protocol
(A) THRER (B) el  (C) AR (D) TIER

69. Assembler
(A) S (B) TN (C) faus= (D) faame

70. Processor

(A) URHIH (B) Ffdemw  (C) duitswrs (D) Terstem

71.  SHIIE | FhH TE % I %! Galrs Bl @ 7
(A) & (B) ®IH I (C) =M (D) T & IS T

72. &1 3UNYT H IUHM hl TheUHT hl ST, I&[ ohid HT TR BT & ?

(A) 3T (B) 3ET (C) ashifad (D) ==t

73. for @ U el IR AT B<l HIAA BT 8 7
(A) Fusfer@l  (B) @Hal (C) e (D) o8 @ IE &

74.  22-26 90T o Bal bl T AW e TR ?

(A) Hiad (B) e (C) Te (D) oerd

75. o 5 % fepam Sg AT T E ¢
(A) @ (B) (C) =W (D) ¥m@
Tt
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76. T8 1 IIHT I HLATE ?
(A) gl (B) IewH  (C) WS ATTYSH (D) T U hIg &

77. ST YeSIIfe o fehde W A WA 8 7
(A) & (B) =R (C) o (D) df=

78. TS AT 4 qaiR wrey TE Edr, 38 R hEd 8 ¢
(A) TS HE  (B) HIHA (C) et (D) HaFh 1

79. ‘INOME HTHTTAE G ?
(A) IRivE 9™ (B) dcqey EHIE
(C) gg a9 (D) wgsiits &

80. ‘TUTSHA' I W THE B ?
(A) wgsife wm (B) ey wHTH
(C) 3T gHTE (D) T8 9 IS T8

81. ‘=g o1 3fua afu-foeee w g ?
(A) fit+s5  (B) 435 (O) A +35 (D) SHAREAE

82. Ty’ i 3fud Gi-fade w1 @ ?
(A) Tt + 3FEY (B) T + A0y (C) Wifd + ey (D) Tfd: + 3y

1S9 : T 83 U 85 Tk I H1 Wee HTSaT=Ih T & ?
83. Hdl
(A) T (B) @i (C) faa (D) I

84. SITHI

(A) SRR (B) S (C) i (D) ST
85. fuemn

(A) Tuerdt (B) # (C) foe (D) 394 & I3 T
o
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86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

Petticoat government JaTaR =l 3d fg<l T A1 8 2
(A) = H Y BT SITE BHT (B) TTHR T Ui Y AT
(C) TR Uehle (D) TR THR

Beat black and blue TgTeR &1 3fud fa< su=mur 1 8 ?
(A) T S g et bl et (B) HR-UT & HIAT 1T L ST
(C) et A& T ST (D) i g dier ST

‘el ieft BT gtk 1 3t L wA AR 2
(A) ST (B) IR EE AT (C) ot &1 a1 (D) et R ST

“Iot FTee feuer gerar w1 Sfaa st sl g 2

(A) B YR fetae ST (B) §{ T & fie we

(C) =T (D) T ¥ fome S

I ITeRITEh T < YNT fohd o 7 g3t & 2 E E_|
(A) IRFB (B) A UHT HEa1 g ?

(C) <% QT &1 T (D) ST 37T ATt

fope ST & eI T T YARTE3T 8 7

(A) SHIE BRI BT ? (B) 9 USH-UIS AT ?
(C) FEfHAMTET]? (D) 6§ %13 &I

T fshar’ 3R T T’ 3 gt fopa foram o 3r=avia 31Tl € 7
(A) TEHIeF  (B) HE (C) wIF (D) ¥ & HFE TE

I8 T T | i 91 frafasmur g 7
(A) ®e@=s (B) ®HaEs (C) fufdeams (D) 30 @+ T8

‘S {1 &} W1’ whid G Ush e 36h [T B 7
(A) =iy (B) #N (C) <™ (D) Tt

“Faq I ALIMIRGd § & foetmres g hH A7 ?

(A) i (B) ferem (C) e (D) e
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96. ‘I H AT ETI TR ?
(A) 3 (B) df& (C) 3 (D) ¥4 | %13 &I

97. ‘uTafd T Eifemm T g ?
(A) |9 (B) @ (C) auTIeT (D) |VIIH

08, ‘sl § s § & sv AR AR 7

(A) 3fe (B) dIfee © fe (D) T
99. O IT HEINY] T AL FATBIAT 8 7
(A) femm arfirsafad (B) SIIER T §¢ATd
(C) 37w (D) 3T & &3 TEl
100. ST=H A T9T G gl o o1 o foRTH =1 R Had & 7
(A) 318 ¥ (gfee formm) (B) 3fwe /@ty
(C) gfediar (D) &
101. The evaluation of personality is best made through the use of a/an
(A) projective test (B) survey test
(C) preference test (D) inventory test
fehed 31 HodTeh fohteh YA & TaiaH &9 § fpam SaT g ?
(A) werd wderm (B) waiero wdvegor
(C) Afem qdieror (D) Z=a=edl ufieqor

102. A fifteen year old student is fond of wearing the same type of sweaters that
are worn by his lady teacher. The form of behaviour is known as

(A) egocentrism (B) identification

(C) transference (D) compensation

Teh UgE Y bl B IH] TR 1 T g4 1 IMehiH @ S ITh! T3rfarent gry ugn
JTAT 2 | 39 YRR hl FIER HEATdl o

(A) IFEHEa  (B) TgEM (C) 3t (D) efogfd

Code No. : C-588/2019/Series-A 12

https://snowstudy.in



103.

104.

10S.

106.

A good teacher should show more interest in

(A) tuitions

(B) self-study

(C) enhancement of the knowledge levels of his students
(D) Both (B) and (C)

T 318 Torereh i feper srferes wfa ot =fae 2

(A) &RH (B) W-3A=IH

(C) 319 BT  JH &R H (g (D) (B) 3R (C) gMi

The major objective of education is

(A) making students discipline

(B) reforming the society

(C) making students followers of teachers

(D) developing inherent abilities of students Bl

e o1 @ 32T B o
(A) BT I ST ST |

(B) TH U |

(C) BTHI I Teteni o TR sHMT |

(D) BTHI I HaHTed qTarati o foshiad e |

Gandhiji has given great importance to purposeful creative activity under
the gamut of basic education. Which one of the following can be called
purposeful creative activity ?

(A) Embroidery (B) Dyeing

(C) Making toys of clay (D) All of these
STt 3 TS RIe &3 % JTaa IeTAqUl YoHTcHeh ToRaT i 31T HE fean
2 | Fafefaa # @ =1 =t 3evaqel gemTers foran whaetreh <1 gkt & ?

(A) M (B) T3

(C) Tt = Raet s (D) I8 |t

Who was the pioneer of the Heuristic method of teaching ?

(A) Monroe (B) John Adams

(C) Herbert Spencer (D) None of these

Toren <t T o fafer 61 Smrmeft o6t o 2

(A) AU (B) SHTs™  (C) g WH (D) 10 O Hig A&l
e
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107. Who played the most significant role in making English as a medium of
education during the British rule in India ?
(A) William Bentinck (B) Wellesley
(C) Minto (D) McCaulay
A | fofesr s o6 SR STIST il freq o1 wrem s 4§ 3f et fien
fopar fvmeft 2

(A) faferm dfés (B) ot (C) T (D) T

108. Education would be meaningful only when it would be
(A) Student-centred (B) Teacher-centred
(C) Curriculum-centred (D) Society-centred

f31e1 Shaet a9 & A1 BT o9 a8 B
(A) BASBigd  (B) 3TEAUS higd (C) UISAshH higd (D) THIS shigd

109. For lesson planning, which of the following is first required ?
(A) Analysis of teaching task
(B) Evaluation of entering behaviour of pupils
(C) Determination of objectives
(D) None of these
13 3T o fore et & & Teuem - STaeesh 3 ?

(A) Trer st = fargetyor (B) ST o YRI¥Heh TGN T HeaTeh
(C) 33 &1 e (D) 8 9 His T&l
110. Which of the following is not included in education ?
(A) Maturation (B) Classification of doubt
(C) Adjustment and accommodation (D) Acquisition of knowledge
frfetfiga o & 7 @ fren & wiver 7 2 2
(A) Tfde (B) ©CE 1 iRty
(C) THSH TR TS (D) M 3FSH
111. The most intense and crucial socialization takes place during
(A) early childhood (B) adolescence
(C) adulthood (D) None of these
3fe & 37 FroTieres wwTSfieRT fopd RA BT ® 7
(A) IR STeameeen (B) fememraen
(C) aI&hal (D) 8 ° His T&
oo N T RO Sesiea
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112.

113.

114.

115.

116.

117.

Which is the storehouse of our unfulfilled desires ?

(A) Id (B) Ego

(C) Superego (D) Both (A) and (B)

D AR e TTS13T T HESE & 7

(A) 8 (B) 3teH (C) wreH (D) (A) 3 (B) A
The ‘insight theory of learning’ is promoted by

(A) Pavlov (B) Jean Piaget

(C) Vygotsky (D) ‘Gestalt’ theorists

TSI HT 35! fagia fehwres gr0 wafeia fepam mam @ 7

(A) wEEE (B) SMfoas  (C) wgmigEhl (D) TReTeedTieal
Learning Disability in motor skills is called

(A) Dyspraxia (B) Dyscalculia (C) Dyslexia (D) Dysphasia
TTfeehT ShiSTell B 3TEI JETHAT HEeATdl B

(A) fewifeqn  (B) fewpemgiermn (C) fewifdqan (D) fewwfomn

A child of 16 years scores 75 in an IQ test; his mental age will be

(A) 8years (B) 10years  (C) 12 years (D) 14 years

16 ¥ ST T HTeToh §fg AT HET § 75 ThI ITH AT & 1 IHeh! HHRTH 3TY
2t

(A) 8a¥ (B) 10=d (C) 1299 (D) 1499

Human personality is the result of

(A) only heredity

(B) upbringing and education

(C) interaction between heredity and environment BliE
(D) only environment [==23:

TS SAfthed fehgehT TR & ?

(A) HE SIS

(B) HTe=-arSor 37 f3rem

(C) SR 3T JATa0T o T&T TR

(D) haed FATELT

Creativity is usually associated with

(A) Divergent thinking (B) Modelling

(C) Limitation (D) Convergent thinking

GSTTCHhAT AT fhey Hafia g ?

(A) AR faaq (B) Hisfom (C) dmm (D) AR faae
e e
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118. Which Commission pointed out major weakness in existing system of
professional education ?

(A) Mudaliar Commission (B) National Education Commission
(C) Radhakrishnan Commission (D) Sadler Commission

FAHT AT e Jorref! # fopd ST = €t A qune ?

(A) HeEfER 3T (B) g e srrm

(C) THTHSE TR (D) TSR AN

119. NCTE was established in which year ?
NCTE fera av wenfua foram mam ?

(A) 1970 (B) 1972 (C) 1973 (D) 1975

120. Educational planning is
(A) best use of teaching (B) best use of limited resources
(C) Both (A) and (B) (D) None of these
Sifegep Ao 2
(A) e =61 wa™ 39T (B) ifira sy st waiay ST
(C) (A) 3R (B) gH (D) T8 | IS T8

121. Sex-ratio wise rank of Himachal Pradesh in India as per Census 2011 was
(A) 7™ (B) 8&h (C) 9 (D) 10"
SFATUMET 2011 3 3TTER WA | TeHT=rat 391 1 fomuma <l 38 & 9 8
(A) 74t (B) 8af (C) 9at (D) 10at

122. Total Vidhan Sabha constituencies in Mandi district of Himachal Pradesh are
feumerer wew % uEt fet & et faam @ fFrafea-a= &
(A) 8 (B) 10 (C) 15 (D) 16

123. Jhanjhar Dhar is located in which district of Himachal Pradesh ?
(A) Bilaspur (B) Hamirpur (C) Chamba (D) Mandi
e 9 fewraret vew o fopw forer o feora 2 7

(A) foemag (B) THRT (C) =i (D) =t

124. Yashpal, a famous Hindi Author belonged to which present district of
Himachal Pradesh ?
(A) Chamba (B) Sirmaur (C) Shimla (D) Hamirpur
F31aTed feHTeel gew o fore ardu et 3 gufeg it siwen & 7
(A) =wT (B) f&wR (C) Rmem (D) THRE
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125. Kaleshwar fair is celebrated in which district of Himachal Pradesh ?

(A) Hamirpur (B) Kangra (©) Mandi (D) Chamba

HTATa T feureret 7ew1 o e et § memn e @ 2

(A) THITR (B) TSl (C) #Het (D) =
126. Kamru, a famous place located in which district of Himachal Pradesh ?

(A) Lahaul & Spiti (B) Kullu

(C) Kinnaur (D) Shimla

HIE, Tsh GG el feamaet wewr = fopm forer o fevra 8 7

(A) W 3R et (B) Tl EE

(C) foraR (D) famen (el
127. ‘Parbati’ is a tributary of which river of Himachal Pradesh ?

(A) Yamuna (B) Satluyj (C) Beas (D) Chenab

et ferTet gew i fopa 7<) Y wEmE T R 2

(A) T (B) waTs (C) = (D) =T
128. Which is the smallest wildlife sanctuary in Himachal Pradesh ?

(A) Kugti (B) Kalatop (C) Majathal (D) None of these

i T TEHT Yo 1 9o8 B I=S1d VIR0 2 ?
(A) Pt (B) HTeM (C) wmIA (D) T8 | IS T8

129. First heritage city in Himachal Pradesh is
(A) Dharamsala (B) Palampur (C) Manali (D) Mandi

Teur=rer Jew =51 g qraites (Fe) I ?
(A) v (B) HeTHYL (C) #HATeAt (D) #et

130. Which district of Himachal Pradesh has lowest Scheduled Caste population ?
(A) Kinnaur (B) Chamba (C) Bilaspur ’ (D) Lahaul & Spiti
feaTeret wew o fope et ® werd v srgfaa ST 61 SHE@n g ?

(A) fordR (B) =Wl
(C) o (D) oera 37 feafa
131. Which of the following is called popularly as ‘Ellora of the Himachal’ ?
(A) Tabo monastery (B) Sun temple at Nirath
(C) Masroor rockcut temple (D) None of these
frfotftad 5 & HH ARl T TR 371 g fenraret’ (ferreret o1 Teii) e S g ?
(A) & AEd (B) fiter o1 9 Hfx
(C) TEEL o ScTehd HIGT (D) ¥ ¥ =i A&
e
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132. Who among the following was returned unopposed to the first Lok Sabha ?
(A) Dr. Y.S. Parmar (B) Pt. Padam Dev
(C) Joginder Sen (D) Anand Chand
frfefaa o @ o wem o g | iy fatfaa gamen ¢
(A) Ef. 99.TH. TWAR (B) dU.UgH A
(©) ST (D) e
133. The original capital of Bilaspur princely state was
(A) Ghumarwi (B) Namhol (C) Naina Devi (D) None of these
foreTaqt Tt T <kt g T oA
(A) Fomdt (B) A& (C) Fned (D) FHEABR T
134. When did the construction of Bhakra Dam start ?
TrEeT afe o1 fafor e IRy g1 7
(A) 1948 (B) 1951 (C) 1954 (D) 1956
135. Which is the most industrialised district of Himachal Pradesh ?
(A) Solan (B) Sirmaur (C) Kangra (D) Mandi
femTaer wew o1 TEifiek Sfefiehd fem SR AT R ?
(A) |\ (B) f&wR (C) wimTel (D) wEl
136. During colonial period, British capital was mainly invested in
(A) Infrastructure (B) Industry
(C) Agriculture (D) Services
ISR hTeT o QI ferfesT doit e forem fafera oft ¢
(A) 3@EEA - (B) 3@ (C) N (D) e
137. Which town/city in India has got a tower (minar) named after Muhammad
Ali Jinnah ?
(A) Mumbai (B) Aligarh (C) Calicut (D) Guntur
R o ford 7 /38X o Ygrg 37eft foaTg o 9 1 2’ (HHR) 8 7
(A) T (B) ¥cffig  (C) Wl (D) T
138. Who declared as his ultimate aim the wiping of every tear from every eye ?
(A) Sardar Patel (B) B.G. Tilak
(C) Mahatma Gandhi . (D) Jawaharlal Nehru
ToREm 39T 37| Te Tieh 311@ & Tieh JTE i TS & UHT =iy feham o1 ?
(A) WERUeA (B) st faets (C) werem el (D) SaTetelre 48%
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139.

140.

141.

142.

143.

144.

145.

A collective term used by the Jains for their sacred books is
(A) Prabandhas (B) Angas (C) Nibandhas (D) Charits

S 4 <l i qETehi o TeTT M | WEd U¢ T a1 & ?
(A) S99 (B) 3T (C) T=m (D) =f@

Who among the following foreigners was the first to visit India ?
(A) Fahien (B) Hiuen Tsang (C) Megasthenese (D) I-Tsing
frfafaa 9 & == |1 wem fodef wies o 7

(A) ®TEIH (B) &IEm (C) Wi (D) sfcam

Which is not a part of Vedatrayi ?

(A) Rigveda (B) Yajur veda EGE
(C) Sama veda (D) Atharvaveda — =%
I Jeft BT AT R 7

(A) g (B) g (C) wmeg (D) ¥eIg

Razia Sultan was the daughter of which Delhi sultan ?
(A) Iltutmish (B) Balban

(C) Mohammed Ghori (D) None of these
T geae ford feoett Goar ot gt off 7

(A) Sogatast  (B) SotsH (C) AEERT{ (D) $9H & IS 781

The Ibadat Khana was a meeting house built by which Mughal Emperor ?

(A) Babur (B) Humayun (C) Akbar (D) Aurangzeb
Tor® ITeT TTEeh A SETGA@HT ATHeh HHE]G e o7 ?

(A) aTR (B) T (C) 3T (D) T
The ‘Rule of Law’ is the speciality of which of the following ?

(A) Britain (B) USA (C) France (D) Switzerland
T 3% A1 Frferiaa & & foraeht fosiwar 2 7

(A) fsr (B) ..U (C) %™ (D) Teagsiets

Where is the objective of ‘Social Justice’ articulated in Indian Constitution ?
(A) Article14 (B) Articlel5 (C) Articlel6 (D) Preamble
A Efaee § arariores = 1 329 el | femmn g 2

(A) 3431@3—14 (B) 313'0@3—15 ©) 3431@3—16 (D) w&dTE-t
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146. Which writ is called bulwark of personal freedom ?

(A) Mandamus (B) Habeas Corpus
(C) Quo Warranto (D) Certiorari
I Tt a1fereh AT ST T 99T hEATd & 7
(A) WHTCH (B) &t &ttt
(C) ITRpR-g=a1 (D) IAIT-TE
147. In which house, the chairman of that house is not a member of house ?
(A) Lok Sabha (B) Legislative Assembly
(C) Legislative Council (D) Rajya Sabha

forE e H, He o1 315981 39 U B eI TE B 7
(A) daw (B) fagmaw (C) faumvufg (D) T=w@w

148. During lunar eclipse, which of the following is at the centre ?

(A) Moon (B) Sun (C) Earth (D) None of these

=% T8V o SR (HHfaRad § Y hg o wWaT 8 ?

(A) =5 (B) ¥ (©) 7= (D) TH & g 7
149. The narrow strip which connects two water bodies is called

(A) Gulf (B) Strait (C) Peninsula (D) Isthmus

I STe1 TepTIl ol SIS STetl Iaet! ISt e &

(A) @il (B) SielewsA=  (C) JEgM (D) z=m™
150. Atmospheric vapours are transparent for which of the following ?

(A) Incoming solar radiations (B) outgoing solar radiations

(C) Both (A) and (B) (D) None of these

frfaRea o @ ferees forg arHeetta arsy uresff 2 7

(A) 3mTa | fofeon (B) frta @i fafertori

(C) (A) 3T (B) THI (D) T & HE T
151. Cholera, Dysentery and Jaundice are caused due to

(A) land pollution (B) air pollution

(C) water pollution (D) All of these

Bt, 3rfeEm 3R diferarn fore swror et 8 7

(A) i TgT  (B) I YWl (C) SAWGEU (D) &l
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152.

153.

154.

158S.

156.

157.

158.

Which of the following racial group is known as the Aryans ?

(A) Brachycephals (B) Mediterranians

(©) Nordiqs (D) Proto-Australoids
f=ferfiga @ & S a1 sirfa aqg 3w Feamar g ?

(A) sifrfahed (B) #felif==a Eﬁ
(C) i (D) WEI-Alkgciiggd  H==
The Nathu La is located in

(A) Himachal Pradesh (B) Jammu & Kashmir

(C) Sikkim (D) Uttarakhand

T~ fera 8

(A) feameyew (B) SH-wwHR  (C) fafem (D) ITGE

Bauxite is an important ore of

(A) zinc (B) copper (C) mica (D) None of these
SierTse fohEeh! Teh HEwqUl 3TIh & 7

(A) S (B) e (C) ! (D) & & % Tl
Which electromagnetic radiation is used for satellite communication ?

(A) Infrared (B) Microwave

(C) Ultraviolet (D) None of these

STIER HAR § A A foela-geehia faferon e g € 7
(A) 3HITH (B) wigshldd  (C) eI (D) T8 8 HIS T

Which mirror is used to get the magnified and virtual image ?
(A) Concave mirror (B) Convex mirror

(C) Plane mirror (D) None of these
HATERId T STwTE fafes STH e % fAe e o1 g W B g 7

(A) JEqAGU  (B) IqAGU  (C) EHAGIguul (D) FTH H hig &l

Which is a good electrical conductor ?

(A) Charcoal (B) Peat (C) Diamond (D) Graphite
i< T 3T Ted =eTeh 8 7

(A) IR (B) dre (C) B[ (D) TwiEe
The lockjaw is a pathological condition of

(A) Diphtheria (B) Polio (C) Paralysis (D) Tetanus
ATehsl Eeh! Tk TATTeweh TRafd 2

(A) feefen (B) difer=n (C) Wi (D) feetm
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159. Which authority decides about the state’s share in central taxes ?
(A) NITI Aayog (B) Finance Ministry
(C) Finance Commission (D) RBI
$I it AT (frer) it ohll | T b1 fewmn fuifa@ st @ 7
(A) fifaamm  (B) e () msmm (D) 3w 3

160. BSE SENSEX constitutes how many number of companies ?

(A) 15 (B) 25 (C) 35 (D) None of these

BSE SENSEX T fehe1 shuf-ar =miie & ?

(A) 15 (B) 25 (C) 35 (D) 0 ° His T&l
161. RBI was nationalised in which year ?

(A) 1934 (B) 1943 (C) 1954 (D) None of these

RBI %1 TERR0T fohg a9 g311 7

(A) 1934 (B) 1943 (C) 1954 (D) T8 A IS T

162. A woman going with a boy is asked by another woman about the relationship
between them. The woman replied, “My maternal uncle and the uncle of his
maternal uncle is the same”. How is the lady related to that boy ?

(A) Aunt and Nephew (B) Mother and Son
(C) Grandmother & Grandson (D) None of these
Teh STeTeh o |1Y 1 TE AfgeT i gudl Aige ¥ 39 i Tey % a1 § gt al

ugett Afgell 3 Toga e fob “TIR 9T 3R 39eh HTHT % Ikl g1 U &l &, dl 39
AiEeT ol STcTeh Y T a8 7
(A) =T 3R et (B) Al 3R
(C) Tt 3R arar (D) 8 O His A&l

163. In a month of 31 days, third Thursday falls on 16™. What will be the last day
of the month ?
(A) 5" Friday (B) 4" Saturday (C) 5% Thursday (D) 5™ Wednesday
31 fe7 & wd # e TEEAR 16 @1 AT 7, @ T o1 Afaw fogw #b A fq
AT
(A) Uf9al EhaR (B) I IMIR (C) diEai [RaR (D) diadi qear

164. In a class of 42 students, Mahesh’s rank is 16™ from the bottom. What is his
rank from the top ?

(A) 250 (B) 27" (€) 29° (D) 32nd

42 BT shl Teh heTT H HEY 1 5hH 1 T 1691 & dl 3Gh! shH IS & =7 g 7

(A) 2590 (B) 27af (C) 298t (D) 324t
T
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16S.

166.

167.

168.

169.

170.

Which Indian company has become the official sponsor of the Afghanistan
cricket team for the 2019 ICC World Cup ?

(A) Hindustan Unilever (B) Amul

(C) Sanchi (D) Dabur

2019 % ICC 9c€ Y % foTT SF H AR ol TR hi SRR
ST ST 8 7

(A) Teégem Fitefie (B) e
(C) I (D) S

Which Indian Judge has recently appointed as a member of the
Commonwealth Secretariat Arbitral Tribunal ?

(A) T.S. Thakur (B) Kurien Joseph

(C) K.S. Radhakrishnan (D) Madan Lokur

DI T WA AR BT & | oo Hshedle Iaea S % T o
U R gan g ¢

(A) d.TE. I (B) Hi= SE® %ﬁ

(C) .TH. TR (D) Ted Tt '

India has recently evacuated peacekeeping CRPF contingent from which of
the following African countries ?

(A) Tunisia (B) Ethiopia (C) Kenya (D) Libya

R o frfetfaa 3 & fopg srbieht o1 @ &1a1 €1 ° fafhitn CRPF 8=1e¢a i &1
fong ?

(A) ZHife=n (B) zfifem (C) = (D) e

Antonym of the word ‘Exhilaration’ is
(A) lowness (B) dejection (C) lukewarm (D) hostility

Correctly spelt word is
(A) abridjment (B) abrigment (C) abrizment (D) abridgement

the fact that she is short tempered. I like her.
(A) Instead of (B) Despite of (C) Inspiteof (D) Because of
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